[ Efficiency vs vertpos |

~ 0.4

20.09
2
20.08
(&)
50.07
O
£0.06
0.05
0.04
0.03
0.02
0.0

10

Ratio

1.1

1]

T T TR [TV T[T T [T [T [T T[T T [T [T roT

+
+

ERE = EERE =~ TR

=
2
N

Efficiend

107 1

10 0?
TP vertr (cr%)

[ fake+duplicates vs vertr

0.8f-------if

fake+duplicates vs. r

0.6+t

| oEREEEEEEEREREEEE R

------- +v -

Ratio
=
{

101

—=— DQM_TT _original_time2
—e— DQM_TT_modified_time2
—— DQM_TT_modifiedINIT_time2

~0.05
9.045
[d
£0.04
oy
9,035
‘©
£0.03
()
0.025
0.02
0.015
0.01
0.005

..................................

...........

10

20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.01
>
£0.009
B.008
9.007
>
B.006
R
$#.005
(]
0.004
0.003
0.002
0.001}

e
1.2

Ratio

1.1

EEE “ER o

o

10

15 20

éim. PV z (cm)

fake+duplicates vs. z

(] SEREERT RPN T

.

0.8+~ b

................

Ratio

-20 -10 0

20

10
track ref. point z (cm)

30

[ fake+duplicates vs Sim. PV z |

~ 0.5
>
80.45

rate vs Sim
o

© w

w O

(%]

licate

= 0.2

fake+du
o
s
6]

©
i

0.05]

0.25F

L O

Ratio

0.9
0.8

T

ks
—4

5270

I
S prr
op
| :
©

0.7.

2 4 6 8 10
Sim. PV z (cm)



	Contents
	Page 1


